Function Notation I

:é\

REVISE THIS
TOPIC
1 f(x)=6x-1 g(x) = 8x? @
1 (a) Workoutthe value of f(10) [1 mark]

6(i0) —|
29

1 (b) Workout the value of g(5) [1 mark]
PR
8x 5
Answer 9‘ OO
1 (c) Workoutthe value of f(-2) + g(2) [2 marks]

)1 -1 = =13 -13+22L
x2Y = 22 = q
Answer \q

1 (d) Workoutthe value of f(0.5) — g(0.5) [2 marks]
e(o-s)-1=2L 2-2=0
Ax 0S¥ =]

Answer O
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2 f(x) = 9 — X2 g =3 h(x) = 2 @

2 (a) Workoutthe value of f(-2) [1 mark]

a- (N
Answer S

2 (b) Workoutthe value of g(0.5) [1 mark]
Answer 6
2 (c) Workoutthe value of h(4) [1 mark]
o\
Answer I Q
2 (d) Workoutthe value of f(v/3) [2 marks]

9- (f3)°
ST

Answer é

2 (e) Workoutthe value of g(4) + h(-2) [2 marks]
-2
2+ 1= 32 4+L
¢ G ¢
Answer \
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3 f(X) = x2 + 6x — 40 g(x)=Xi4 h(x) =v2x -3 @

3 (& Workoutthe value of f(2) [1 mark]

27+ 6(2) -40
-4

3 (b) Workout the value of g(7) [1 mark]

l
- (
14 3

Answer

3 (c) Workoutthe value of h(26) [1 mark]

Je-3 = J4q
Answer -:l-

3 (d) Workoutthe value of 9(25—3) [2 marks]

Give your answer as a mixed number.

. ! _t _s
13 1> 0 < 2
=Y == 3¢ 3
Z
Answer ‘ /:'a
3 (e) Workoutthe value of f(10) x g(10) [2 marks]
D+ 6(10)-40 = 120
| |
‘O_L\_—/’\g \10X/b:10
Answer lo
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